%5

H R 5 & FLMERIREREAR

(HA7: 7/ mb)

X5 4 A 5 A 6 A 7 A

H#h[X 1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &F =3.4 =104 =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= & =3.4 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 & =3.4 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.4 20.55 &FH =3.4 =10.4
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

B ¥ 9.2 19 1.9 100.0 98.1 100.0 | 93.8 6.2 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 98.5 1.5 100.0 100.0 100.0
Z° &0 |100.0 1000 100.0 100.0 [ 95.8 2.0 2.2 1000 97.8 100.0 | 93.5 6.5 100.0 100.0 100.0 | 91.1 8.9 100.0 100.0 100.0
=] 99.5 0.5 100.0 100.0 100.0 | 96.6 3.0 0.4 0.0 1000 99.6 100.0 | 97.1 2.0 04 04 0.0 100.0  99.1 100.0 | 98.0 2.0 100.0 100.0 100.0
% & 98.4 1.6 1000 100.0 100.0 [ 99.8 0.2 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 96.9 3.1 100.0 100.0 100.0
%W 96.4 3.6 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 96.7 3.3 100.0 100.0 100.0
E B |100.0 100.0 100.0 100.0 | 96.0 1.3 2.7 1000 97.3 100.0 | 97.3 1.1 L7 100.0 98.3 100.0 | 97.2 1.5 1.3 1000 98.7 100.0
B #& |100.0 100.0 100.0 100.0 |100.0 1000 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0 | 98.3 L7 1000 98.3 100.0
B & |[100.0 100.0 100.0 100.0 | 98.9 1.1 1000  98.9 100.0 |100.0 100.0 100.0 100.0 | 99.0 1.0 100.0 100.0 100.0
+ B 98.7 1.3 100.0 100.0 100.0 | 98.6 1.3 0.1 1000 99.9 100.0| 98.7 1.2 0.1 0.1 0.1 1000 99.8 99.9| 983 1.4 0.2 01 0.0 0.0 1000 99.6 99.9
B’ 98.6 1.2 0.1 0.2 1000 99.7 100.0 | 97.2 2.1 0.7 1000 99.3 100.0 | 97.1 2.6 0.2 1000 99.8 100.0 | 96.0 3.0 0.5 0.5 1000 98.9 100.0
R =E 979 16 03 01 0.1 1000 99.5 99.9 | 98.8 1.2 1000 100.0 100.0 | 98.4 1.3 0.1 0.1 0.1 1000 99.7 999 98.0 16 04 0.1 1000  99.6 100.0
m E 98.0 1.3 05 0.1 0.1 1000 99.3 99.9 | 97.3 2.3 0.3 0.1 1000 99.6 99.9| 979 1.5 0.1 0.1 0.3 1000 99.4 99.7| 98.0 1.6 0.1 03 0.0 1000 99.6 100.0
R B 99.7 0.3 1000 100.0 100.0 [ 99.0 1.0 1000 100.0 100.0 | 98.4 1.3 0.3 100.0  99.7 100.0 | 99.3 0.6 0.1 1000 99.9 99.9
2 W 96.6 3.4 100.0 100.0 100.0 | 99.4 0.6 1000 99.4 100.0 | 96.9 2.2 0.8 100.0 99.2 100.0 | 97.6 1.6 0.8 1000  99.2 100.0
o 985 12 02 01 00 1000 997 1000| 982 15 00 02 00 1000 99.7 100.0 | 98.1 15 01 01 01 00 1000 997 999 979 17 02 02 00 00 1000 995 100.0
20184 99.0 0.8 0.1 0.1 1000 99.8 100.0| 98.7 1.0 0.1 0.1 0.0 1000 99.8 100.0| 985 1.1 0.1 0.2 0.0 0.0 1000 99.6 99.9| 976 1.9 0.2 0.3 1000 99.5 100.0
2017T4EEP) 988 1.0 0.1 0.1 0.0 1000 99.8 100.0| 98.7 1.1 0.1 0.1 0.1 1000 99.7 99.9] 982 1.3 02 02 0.1 00 1000 995 99.9]| 983 1.4 0.2 01 0.0 1000 99.7 100.0

X5 8H 9 B 10 B 11 A

HhX <14 ~34 ~54 ~104 ~204 205= &HF =34 =104| <14 ~34 ~54 ~104 ~204 205 AF =34 =104| =14 ~34 ~54 ~104 ~204 205= &HF =34 =104| <14 ~34 ~54 ~104 ~204 205 &F =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

B ¥ 9.4 16 1.9 100.0 98.1 100.0 |100.0 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
7 & |100.0 1000 100.0 100.0 [ 96.1 3.9 100.0 100.0 100.0 | 96.3 3.7 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
=] 96.5 3.5 1000 100.0 100.0 [ 98.4 1.6 1000 100.0 100.0 | 99.2 0.8 100.0 100.0 100.0 | 97.8 1.6 0.3 0.3 1000  99.3 100.0
% & 98.1 1.9 1000 100.0 100.0 [ 97.1 2.9 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 98.6 1.4 100.0 100.0 100.0
#% W |100.0 0.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 94.0 6.0 100.0 100.0 100.0
E B 974 1.3 1.3 100.0  98.7 100.0 |100.0 1000 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
B iR 98.3 1.7 100.0 100.0 100.0 [100.0 0.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
B3 97.3 1.4 1.3 1000 98.7 98.7| 98.9 1.1 1000 100.0 100.0 | 99.2 0.8 100.0 100.0 100.0 | 98.5 1.5 1000 98.5 98.5
+ B 97.7 19 0.1 03 1000 99.6 100.0 | 98.6 1.4 0.1 1000 99.9 100.0 | 98.3 1.4 0.2 0.1 1000 99.7 100.0 | 99.2 0.7 0.1 1000  99.9 100.0
B’ 96.0 34 03 02 0.1 1000 99.4 99.9| 96.7 2.7 0.3 0.3 1000 99.4 100.0 | 97.7 1.5 0.2 04 0.1 1000 99.2 99.9 | 98.5 1.4 0.1 1000  99.9 100.0
R =E 98.0 1.6 02 02 0.1 1000 995 99.9| 975 1.4 0.8 0.3 1000 98.9 100.0| 98.1 1.4 0.3 0.2 1000 99.5 100.0 | 98.5 1.1 0.3 0.1 1000 99.6 100.0
m E 96.9 23 05 03 1000 99.2 100.0 | 96.4 2.6 0.5 0.5 1000 99.0 100.0 | 97.7 1.9 0.3 0.1 1000 99.6 100.0 | 98.5 1.1 0.0 0.4 1000 99.6 100.0
R B 99.2 05 0.2 100.0  99.8 100.0 | 99.0 1.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 99.4 0.6 100.0 100.0 100.0
2 W 97.0 3.0 100.0 100.0 100.0 | 97.7 2.3 1000 100.0 100.0 | 99.3 0.7 100.0 100.0 100.0 | 99.5 0.5 100.0 100.0 100.0
o 975 21 02 02 00 1000 995 1000| 978 17 03 02 1000 995 1000 983 13 02 02 00 1000 996 1000| 988 10 01 01 00 1000 99.7 100.0
20184 98.0 1.6 0.2 0.2 0.0 0.0 1000 99.5 100.0| 98.0 1.5 0.2 02 0.1 1000 995 99.9] 986 1.1 0.1 0.1 0.1 1000 99.7 99.9| 98.7 1.1 0.1 0.1 0.0 1000 99.8 100.0
01T 982 1.2 02 03 0.1 1000 99.5 99.9] 98.6 1.0 0.2 0.2 1000 99.6 100.0| 985 1.1 0.2 0.1 0.0 00 1000 99.6 99.9]| 988 1.1 0.1 0.1 1000 99.8 100.0




(HAZ: 7/ me)

X5 12 A 1A 2 A 3 A
HhX <14 ~34 ~54 ~104 ~204 205= &HF =34 =104| <14 ~34 ~54 ~104 ~204 205 AF =84 =104| =14 ~34 ~54 ~104 ~204 205= &HF =34 =104| <14 ~34 ~54 ~104 ~204 205 &F =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
& ¥ |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 100.0 | 98.2 1.8 100.0 100.0 100.0
Z° &0 |100.0 100.0 100.0 100.0 | 94.4 3.7 1.8 1000 98.2 100.0 | 96.5 3.5 100.0 100.0 100.0 | 95.6 4.4 100.0 100.0 100.0
=] 96.8 3.2 100.0 100.0 100.0 | 97.7 2.3 0.0 0.0 100.0 100.0 100.0 | 98.8 0.8 0.4 100.0 99.6 100.0 | 97.8 2.2 0.0 100.0 100.0 100.0
% & |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
%W 97.7 2.3 100.0 100.0 100.0 | 97.5 2.5 1000 100.0 100.0 | 90.5 6.6 3.0 100.0  97.0 100.0 |100.0 100.0 100.0 100.0
& B |100.0 100.0 100.0 100.0 |100.0 1000 100.0 100.0 | 98.8 1.2 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
B iR 98.7 1.3 100.0 100.0 100.0 [100.0 0.0 100.0 100.0 100.0 | 99.7 0.1 0.2 100.0 99.8 100.0 | 98.7 1.3 100.0 100.0 100.0
B3 98.9 1.1 100.0 100.0 100.0 | 96.5 2.5 1.0 1000 99.0 99.0| 97.6 1.4 1.0 100.0  99.0 100.0 | 99.0 1.0 100.0 100.0 100.0
+ B |95 12 o1 01 01 1000 99.7 99.9| 98.7 1.2 0.1 0.0 1000 99.9 100.0 | 98.4 1.4 0.1 1000 99.9 100.0| 98.5 1.1 0.2 0.1 0.1 1000 99.6 99.9
g B | 987 13 100.0 100.0 100.0 | 98.7 1.1 0.1 0.1 1000 99.8 99.9| 98.6 1.3 0.2 100.0 99.8 100.0 | 98.0 1.8 0.1 1000 99.9 99.9
BE | 985 14 0.1 1000 99.9 100.0 | 98.6 1.1 0.1 0.1 0.1 1000 99.7 999 975 22 02 0.1 1000 99.7 100.0 | 98.8 1.1 0.1 0.1 1000  99.9 100.0
W E | 987 1.1 02 1000 99.8 100.0 | 97.4 23 0.1 0.1 1000 99.7 100.0 | 96.2 2.3 0.3 0.7 0.4 1000 985 99.6| 98.0 1.2 0.2 0.5 1000 99.2 100.0
R B 99.2 0.8 100.0 100.0 100.0 | 99.5 0.3 0.2 1000 99.8 99.8] 99.2 0.8 100.0 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0
2 W 99.3 0.7 100.0 100.0 100.0 | 99.3 0.7 1000 100.0 100.0 | 98.4 0.8 0.7 1000 99.3 100.0 | 97.3 2.7 100.0 100.0 100.0
o 986 13 01 01 00 1000 999 1000| 985 13 01 01 00 00 1000 998 999 980 16 02 01 O1 1000 996 999 984 13 01 01 00 00 1000 99.7 100.0
20I84EE | 98.7 1.0 0.2 0.0 0.0 1000 99.7 100.0| 98.2 1.5 0.1 01 0.0 0.0 1000 99.7 999|986 1.2 0.1 0.0 0.0 1000 99.8 100.0 | 98.8 1.0 0.1 0.1 1000 99.8 100.0
2017T4EEP) 983 1.3 0.1 0.2 0.0 0.0 1000 99.7 99.9| 988 1.0 0.2 0.1 1000 99.7 100.0| 988 1.1 0.1 0.1 0.0 1000 99.9 100.0) 986 1.2 0.1 0.1 0.0 1000 99.8 100.0
X5 E #(4A~3A) Z ZEIEEERERURIL)
HhX <14 ~34 ~54 ~104 ~204 205= @i =34 =104 <14 =34
% % % % % % % % % % %
B ¥ | 983 14 03 100.0  99.7 100.0 98.8 (-0.5) 99.6 (0.1)
E 96.6 3.1 0.3 100.0  99.7 100.0 96.9 (-0.3) 99.5 (0.2)
=l 979 19 01 01 0.0 100.0  99.8 100.0 97.6 (0.3) 99.5 (0.3)
% & | 9.1 09 100.0 100.0 100.0 99.5 (-0.4) 100.0 (0.0)
% W 97.8 2.0 0.2 100.0  99.8 100.0 96.8 (1.0) 99.0 (0.8)
E B |98 06 01 04 1000 99.4 100.0 98.7 (0.1) 99.9 (-0.5)
B iR 99.3 05 0.1 0.0 100.0  99.8 100.0 98.8 (0.5) 99.6 (0.2)
B3 98.7 09 01 01 0.3 1000 99.5 99.7 98.9 (-0.2) 99.8 (-0.3)
+ B |95 13 01 01 00 00 1000 99.8 100.0 98.8 (-0.3) 99.8 (0.0)
g B | 976 1.9 01 02 00 100.0  99.6 100.0 97.9 (-0.3) 99.5 (0.1)
B E |92 14 02 01 00 00 1000 99.6 100.0 98.6 (-0.4) 99.8 (-0.2)
W E |976 18 02 03 01 1000 99.4 99.9 97.9 (-0.3) 99.5 (-0.1)
= B 99.2 0.7 0.0 0.0 100.0  99.9 100.0 99.3 (-0.1) 99.9 (0.0)
2 W 98.2 1.6 0.1 0.1 100.0  99.8 100.0 98.3 (-0.1) 99.7 (0.1)
o 982 15 02 01 00 00 1000 99.7 1000 98.4 (-0.2) 99.7 (0.0
20184 984 1.2 0.1 0.1 0.0 0.0 1000 99.7 100.0
01T 985 1.1 02 0.1 0.0 0.0 1000 99.7 100.0




	表5

